Calculus Log and Exponents Practice #1

Solve:

1. X = logg 200

2. InX=2.1

3. e'=o9

4. logs (3X + 11) = 6.2

5X—4—

2 X=31

4x
> = 199

Solve for X in terms of k:

7.  logio (4X) =k

8. In(2x-5)=Kk

Solve:

9. logio (X + 8) + logio (X — 5) = log 1o (14)
10. In (BX—6) +In (3) =2 In (X) + In (2)
11. logs (2X +3) —logs (X—2) =1

12. log, (X + 4) + log, (X—3) = 3

13. 2log, (X) —log, (X —6) = log, 32

14. logs (X°) — 3 logs (X) = 4

Solve for X in terms of k:

15.

16.

2|Og4X:IOg4k+1

n@2X—-k)—Ink=2



Answers: Calculus Log and Exponents Practice #1

Solve:

1. X = logs 200

2. InX=2.1

3. e'=o9

4.  logs (3X + 11) = 6.2

Solve for X in terms of k:

7.

8.

2 X=31

54x

5’5—_4=199

log1o (4X) =K

In (2x — 5) =k

XIne=1In9

5 log (3 +1) _ 6.2

2-X)hre=In3.1
5% *4 =199
1099 @0 — 10

_ k
e @-5 _ 4

Invalid solutions are shown struck out:

9.

10.

11.

12.

13.

14.

Solve for X in terms of k:

15.

16.

logio (X + 8) + logio (X —5) = logio (14)

In (5X —6) + In (3) =2 In (X) + In (2)

logs (2X + 3) —logs (X —2) = 1

log, (X + 4) + log, (X —3) = 3

2 |ng (X) — |ng (X — 6) = |ng 32

logs (X°) — 3 logs (X) = 4

2|Og4X:IOg4k+1

In@2Xx-k)—Ink=2

|0g4 X2 = |0g4 k + IOg4 4

2x—k

In (— Yy=1Ine?

XIn 6 =In 200

3X + 11 = 21558.3

2-X=1.1314

(3X + 4) In 5 = In 199

2X—-5=¢e

(X + 8)(X —5) = 14

3(5X — 6) = 2x?

2x+3
xX—2

=3

(X +4)(x—-3)=8

X
—x_6_32
x°-%=81
x? = 4k
Zx_k_ 2
& =e

X = 2.957
X = 8.166
X =2.197
X=7182.4
X = 0.8686
X =70.2370
i = 1ok

4
‘= ekys

2
X=6 o9
X=6o0r1l5
X=9
X=4 o5
X=8or24
X=9 o9
x =2Vk

_ e’k+k



